ode: 94110 / Economics Paper III- Development Economics

M.A. (PART-II)

ECONOMICS
DEVELOPMENT ECONOMICS Q.P. Code : 39925
\ (PAPER -1II) (JAN-19) [3 Hours] SIS

Please check whether you have got the right question paper.

N.B: 1. Attempt any four questions.
2. All questions carry equal marks.

1. Explain any two of the following : 25
(a) Measures of development
(b) Adam Smith Model
(c) Low-level equilibrium trap.

2. Explain any two of the following : 25
(a) Salow-swan model
(b) Feldman-Mahalnobis model

(c) Golden rule of accumulation.

3. Write an essay on political instability and economic policy. 25
OR

Critically evaluate any two mainstream paradigms of underdevelopment in the context of existing
financial institution.

4. Write essay on gender and development. 25
OR

Critically evaluate Harris Todaro model of rural-urban migration.

5. Explain any two of the following : 25
(a) Agriculture Industry interrelationship
(b) Financing development from domestic and foreign resources
(c¢) Debt, Investment and Growth.

6. Write an essay on Merged Bank-Fund Model. 25

7. Write short notes on any two of the following : 25
(a) Model of Surplus Labour
(b) Growth accounting
(c) Segmented labour markets
(d) Human development.

Turn Over
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Pa iect Code: 94133 / Economics:Paper IV - Public Economics

M.A. (PART-II)
ECONOMICS

PUBLIC ECONOMIC
\ (PAPER - IV) (JAN-19) y [Time: 3 Hours] [ Marks:100]

Please check whether you have got the right question paper.
N.B: 1. Attempt any four questions.
2. Figures to the right indicate full marks.

Q.1 Explain the following. (25)
a) Rationale for state intervention.
b) Arrow’s Impossibility theorem.

Q.2 Discuss the following. (25)
a) Nash Cournot equilibrium.
b) Social cost — benefit — Analysis.

Q.3 Examine the following. (25)
a) Effects of taxation on labour supply, savings and risk taking.
b) Marginal pricing.

Q.4 Analyse the following. (25)
a) The Solo Blinder theorem and fiscal deficit.
b) Relationship between taxation, inflation and interest rates.

Q.5 Elaborate on the following. (25)
a) Deficit, inflation and the tight money paradox.
b) The modified Mundel Fleming model of financial crisis.

Q.6 Explain the following. (25)
a) Fiscal Federalism
b) Taxation and foreign direct investment.

Q.7 Write notes on any two of the following. (25)
a) Social welfare functions.
b) Lindal’s Voluntary Exchange model.
c) Harberger’s model of incidence of corporation tax.
d) The twin deficit approach to growth and inertial inflation.
e) The government budget constraint.
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ject Code: 94164 / Economics:Paper II-Agriculture Economics.

M.A. (PART-II)
ECONOMICS
AGRICULTURE ECONOMICS (3 Hours) Marks : 100
(PAPER - II) (JAN-19) Please check whether you have got the right question paper.

NB: (1) Questions No.1 is Compulsory.

(2) Answer any 3 questions from the remaining six.

(3) All questions carry equal marks.

1.
(a)
(b)
()
(d)
(e)
()
2. (a)
(b)
3. (a)
(b)
4. (a)
5. (a)
(b)
6.
7.
63335

Write notes on any three of the following :
Fertiliser Management.

Agricultural Research.

Watershed Approach.

Gender-based income disparities.

Impact of WTO on agriculture.
Globalisation of agricultural goods trade.

Explain the agricultural development theory of lewis.

Discuss the salient characteristics of agricultural development in India since
1960s.

Comments on water charges on irrigation and drinking water.
Examine the public investment on major, medium and minor irrigation in India.

What is new technology applied in Indian agriculture? What is its impact on
production, productivity and real wages.

Write a note on crop insurance in India.
Comments on agricultural price policy in India.

Discuss the any two of the following :
a) Market interlocking
b) Uban-rural income disparities
c) Difference between capitalism and feudalism.

Explain the any two of the following :
a) Abolition of intermediaries.
b) Foreign Capital and Indian agriculture.

¢) Land to the Tiller Act of Maharashtra.
d) Agriarian Reforms and peasant movement.
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Yode: 94216 / Economics:Paper II-:Industrial Economics

M.A. (PART-II)
ECONOMICS
INDUSTRIAL ECONOMICS

( 3 Hrs)

(PAPER -1I) (JAN-19)

N.B.(T) All'questions carry equal marks.
(2) Attempt any four questions.
1. Explain the following:-
(a) Nature and causes of labour migration in India.
(b) Theory of Human capital
2. Derive the following:-
(a) Short run demand curve for labour
(b) Long run demand curve for labour
3. Discuss the following:-
(a) Marginal productivity theory of wages
(b) Subsistence theory of wages
4. Explain the following:-
(a) Economics of union
(b) Implicit contract theory
5. Discuss the following:-
(a) Problems of formal and informal labour in India
(b) Employee turnover in India.
6. Explain the following:-
(a) Class conflict approach to industrial relations
(b) Strikes, Lockout and closure
7. Write notes on any two of the following:-
(a) Characteristic of Indian labour market
(b) Wage differentials in India
(c) Contract labour

(d) Role and functions of ILO
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